Chapter 6 Notes


Chapter 6
Competition
I.
Market Structure

Market Power is when “a company [has the] ability to manipulate price by influencing an item's supply, demand or both. A company with market power would be able to affect price to its benefit. Firms with market power are said to be "price makers" as they are able to set the price for an item while maintaining market share.

Generally, market power refers to the amount of influence that a firm has on the industry in which it operates.”

Market structure is the number and relative size of firms in an industry. 

Competitive market is a market in which no company has market power, and companies have no ability to alter the market price of the goods it produces.
In a competitive market neither the sellers nor buyers have market power. 

Perfect competition is a market in which there are many firms, each selling an identical product; many buyers; no restrictions on the entry of new firms into the industry; no advantage to established firms; and buyers and sellers are well informed about price.
Monopoly is a firm that produces the entire market supply of a particular good or service.
Market power is the ability to alter the market price of a good or services.
A Monopoly are the extreme case of market power (i.e., they have 100 percent of the market supply).
Duopoly is a market where only two firms supply a particular product.
Oligopoly is a market where a few large firms supply all or most of a particular product.

II.
Perfect competition 

Monopolistic competition – It’s a market in which a large number of firms compete by supplying essentially the same product.
Monopolistic competition is a market structure in which:

· A large number of firms compete.

· Each firm produces a differential product.

· Firms compete on price, product quality, and marketing.

· Firms are free to enter and exit.

Price taker 
Since the producers in a perfectly competitive market are so small and there is no product differentiation when they go to the market, they must sell at the price provided to them by the market.  Hence in a perfectly competitive market, suppliers are price takers.
Market demand vs. firm demand 

In perfect competition (AKA perfectly competitive market), market demand and market supply are determine by the price (P).

The distinction between the actions of a single producer and those of the market are illustrated by:

· The market demand curve for a product is always downward sloping (think law of demand)

· The demand curve facing a perfectly competitive firm is horizontal (think equilibrium price)

III.
The Firm’s production decision 

Production decision is the selection of the short-run rate of output (with existing plant and equipment).

Total revenue (TR) the price of a product multiplied by the quantity sold in a given time period.
TR = P×Q
Output and revenue 

The reason is that the firm can sell any Q it choose at the going MKT P (because they are price takers).  So if the firm sells one more unit, it sells it for the MKT P and TR increases by that amount (i.e. (mktP) ·(Q)). 

Total revenue is the price of a production multiplied by the quantity sold in a given time period.

Revenue vs. profits

Profit is the difference between total revenue and total cost.





As you can see for the graph above a business is profitable only within a certain rage of output.  In other words, a business only makes a profit between the break-even-points illustrated in the graph.  The reason is that TR is greater than TC for any quantity produced between the two break-even-points. 
Marginal revenue (MR) is the change in total revenue (TR) that results from a 1-unit increase in the quantity sold.

To maximize profit you have the following clues:

· Maximize output or revenue is no the way to maximize profit 

· Total profits depend on how both revenues and cost increase as output expand.

IV.
Profit Maximization 

Profit Maximizing Output

As Q increases, TR increases, but so does TC.  And because of decreasing marginal returns, total cost eventually increases faster than marginal returns.  

There is a point in which TR – TC is maximized (biggest difference), and a perfectly competitive firm chooses this output level. 
Marginal Cost 

Marginal cost is the increase in total cost associated with a one-unit increase in production.

Profit-maximizing rate of output

It is another way to find the profit maximizing output by comparing MC with MR. 

In perfect competition:

P = MC, or
MR = MC
We already discussed that MR is constant (via the TR constant increase), and MR is equal to the equilibrium P (this is why the two equations above provide the same answer).
So:

· If MC > MR, then the extra revenue from selling one more unit is less than the extra cost incurred to produce it.  Economic profit decreases.
· If MC < MR, then the extra revenue from selling one more unit exceeds the extra cost incurred to produce it.  Economic profit increases.

· If MC = MR, economic profit is maximized.

Using this analysis we find the profit maximizing quantity given different prices.

So long as price exceeds MC, further increases in the rate of output are desirable. At the rate of output where P = MC, total profits of the firm are maximized.
Total Profits 

The profit maximizing producer never seeks to maximize per unit profits.  What counts is the total profit.  The profit maximizing producer has no particular desire to produce at that rate of output where ATC is at minimized.  The equation of profit is:
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· Total profits are maximized where P = MC.
· The profit maximizing quantity is determined using P = MC.

V.
Supply Behavior 
Firm’s Supply 
To determine P and Q, we need to know how D and S work.  We look at both the long run and the short run for those answers.  In the SR the numbers of firms are fixed.

The MC curve is the short-run (SR) supply curve for a competitive firm.
Supply shifts when the determinants of supply change.  According to your book, the most important influences on the MC curve are:

1. the price of factor inputs 

2. technology 

3. expectations

Market Supply

The Market supply curve in the SR shows the Q supplied at each P by a fixed number of firms. 
The market supply is the total quantities of a good that sellers are willing and able to sell at alternative prices in a given time period, ceteris paribus.

The main influences on market supply shifts are:

1. the price of factor inputs 

2. technology 

3. expectations

4. the number of firms in the industry

Short-Run Equilibrium in Good Times

Market demand and supply determine the P and Q when they intercept.  As before when S and D intercept an equilibrium P and Q is obtained.  We now call them SR equilibrium P and Q.

Since market demand and supply determine the P, each firm takes the P as a given and produces its own profit max quantity.  (Do not forget that the addition of each firm’s output is the market output)

When looking at a marginal analysis, we make MR = P.  Therefore, at the point where the MC crosses P we have an equilibrium price.  The economic profit is:

(Qe∙Pe) – (Qe ∙ Pmin ATC) > 0 or 

(Qe∙Pe) > (Qe ∙ Pmin ATC)
Shot-Run Equilibrium in Bad times

When we are in bad times, the demand curve meets the supply curve at a point lower (or at) than the minimum willingness to produce P.  When looking at a marginal analysis, we see that:
(Qe∙Pe) ≤ (Qe ∙ Pmin ATC)

This equation shows that we have an economic loss.
VI.
Industry Entry and Exit

Long run 

Equilibrium price is the price at which the quantity of a good demanded in a given time period is equals the quantity supplied.

In the long run, firms respond to economic profit and economic loss by either entering or exiting a market

Temporary loss or gains in economic profit does not affect the entry or exit of firms into a market because in the Long-Run the profits are zero.

Entry and exit do, on the other hand, affect the quantity supplied, price and economic profit.  Both exit and entry affect the supply curve by shifting the supply curve.

How?
Entry → shifts the curve outwards. 

Exit → shifts the curve inwards.

Entry

A new firm enters the market when existing firms are making economic profits.  Suppose that we start at an LR equilibrium point:

· If demand increases: then the P will increase and so will the Qs.  New firms will enter the market and supply the new increase in demand by shifting the supply curve, increasing Qs further and lowering P.

Economic profit is an incentive for new firms to enter a market, but as they do so, the P falls and the economic profit of each existing firm decreases. 

Exit 

Firms exit a market in which they are incurring economic loss.  Suppose that we start at an LR equilibrium point:

· If demand decreases: then the P will fall and so will the Qs.  Firms will start incurring economic loses.  The decrease in demand causes firm to exit the market shifting the supply curve inwards, decreasing Qs further and raising P.

Economic loss is an incentive for firms to exit a market, but as they do so, the P rises and the economic loss of each remaining firm decreases.

Tendency toward Zero economic profits 

Neither good time nor bad times last forever.  In the LR, a firm in perfect competition earns normal profits.  It earns zero economic profit and incurs zero economic loss.

Short Run
Exit and Temporary Shutdown decision 

Sometimes, the price falls so low that a firm can not cover its costs.  A firm will make a decision depending on whether it believes that the prices are temporary or permanent.

Exit: if a firm is incurring an economic loss that it believes is permanent and sees no prospect of ending, the firm will exit the market.
· Using the curves you have learn up to this point, a firm will exit the market if it can not meet its average fix cost (AFC).
Shutdown: if a firm is incurring an economic loss that it believes is temporary, it will remain in the market, and it might produce some output or temporarily shut down.

· Using the curves you have learn up to this point, a firm will shutdown if it can not meet its average variable cost (AVC)
To decide whether to produce or to shut down, the firm compares the loss it would incur in the two situations, which ever is smallest that is what the firm will do.

Equilibrium 

Lessons:

· The existence of profits in a competitive industry induces entry. 

· The existence of losses in a competitive industry induces exits.
In the long run competitive market equilibrium 

· Price is equal to ATC

· Economic profit is zero 

As long as it is easy for exiting producers to expand production or for new firms to enter an industry, economic profits will not last long 

Low barriers to entry 

Barriers to entry are obstacles that make it difficult or impossible for would be producers to enter a particular market.

In a perfectly competitive market, there are low barriers to entry.  On the other hand in a monopoly, there are high barriers to entry.

Market Characteristics 

Perfect competition is when:

· Many firms sell an identical product to many buyers.

· There are no restrictions on entry to (or exit from) the market.

· Established firms have no advantage over new firms.

· Sellers and buyers are well informed about price (price takers).
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�  (Inverstopedia ULC 2010)
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